Graphical Convolution To implement convolution at  $n = n_0$ ⇒ h[-k] [] Fold / Reflect h[k] about k=0  $\rightarrow (a)$  Delay / Advance h[-k] by  $n_0 \Rightarrow h[n_0 - k]$ 3 multiply x[R] by h[n\_-R] point by point (1) sum the product y [no] For another no, shift (delay/advonce) again



manual convolution computation	· · · · · · · · · · · · · · ·
Convolve: $x[n] = \{1, 2, 3\}$ with	$h(n) = \{-1 \ 4 \ 2 \ 3\}$
Solution $x[R] = \frac{1}{7} + \frac{2}{7} = \frac{2}{7} + \frac{3}{7} = \frac{2}{7} = \frac{2}{7} = \frac{3}{7}$	24-1} avrow indicate n=0
First overlap $(n = -1)$	· · · · · · · · · · · · · · ·
x[x] 1 2 3	· · · · · · · · · · · · · · · · · · ·
h[-1-k] 324-1	
mul $-1$	· · · · · · · · · · · · · · ·
Second Overlap (n=0)	· · · · · · · · · · · · · · · ·
x[K] 1 2 3	· · · · · · · · · · · · · · · · · · ·
h[0-k] = 3 - 4 - 1	$\mathcal{E}_{0} = \mathcal{X}$
· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · ·
Thind Overlap (n=1)	· · · · · · · · · · · · · · ·
x[R]   23	· · · · · · · · · · · · · · · ·
h[1-R] = 3 = 2 + -1	
$\frac{1}{2}$	· · · · · · · · · · · · · · · ·
· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · ·
· · · · · · · · · · · · · · · · · · ·	· · · · · · · · · · · · · · · · · · ·

Forth overlap (n	= 2)		2	$\kappa[R] = \frac{1}{4} \frac{2}{4} \frac{3}{4}$	} h[-k] =	2324-15
x [R]	<b>)</b>	23	· · · · ·	· · · · ·	· · · · · ·	· · · · · ·
h [2-k]	· · · · · · · · ·	2 4	· ·-1	· · · · · · · ·	2=10	· · · · · ·
· · · · · · · · · ·	3	4	<b>2</b>	 	 	 
Fifth overlap	(n=3)	· · · · · · ·	· · · · ·	· · · · · ·	· · · · · ·	  
z[K]	· · · · · · ·		3	· · · · · ·	· · · · · · · ·	· · · · · · · ·
h[3-K]	  <u></u>	3	2	4-1	· · · · · · · · · · ·	
· · · · · · · · · · ·	· · · · · ·	6	6	· · · · · ·	 	· · · · · · ·
Sixter Overlap	(n=4)	· · · · · ·	· · · ·	· · · · · ·	· · · · · ·	· · · · · ·
ж[R]		2	3	· · · · · ·	· · · · · ·	6 = 9
h [4-k]	· · · · · ·	· · · · · ·	<b>3</b>	· · · <b>·</b> · · · · ·		
	· · · · · ·	· · · · · ·	9	· · · · · ·	· · · · · ·	· · · · · ·
Resut: x	[n] *	- h [n]	= } _	) 27	19 15	2_9

Sequ	ence Duration o	f Con	volut	ion Su		· · · · · · · · ·
	$x [n] \rightarrow finite$ h [n] $\rightarrow finite$	Juratio Juratio	n of	leng lengt	$th: L_{x}$ $th: L_{h}$	.       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .       .       .         .
THEN	= x[n] * h[	n] → fin	ite d	urcition	of length	$(L_x+L_n-1)$
· · · ·	$z[n] = \{x,$	X <sub>2</sub>	X 3	· · · ·	× ~ ~	· · · · · · · · · ·
· · · ·	h[n] = h	hz	h <sub>3</sub>	· · · ·	· h <sub>Ln</sub>	.       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .
· · · ·	x[n] + h[n]	= <i>2</i> y,	y 2	y 3 1	Y Lxt	$L_n - 15$
From	previous exam	ple	· · ·	· · · ·	 	
· · · ·	$x[n] = \{   2 \land$	3}	· · ·	· · · ·	h[n] = {-1 1	4 2 3}
· · · ·	$-\chi = 3$		h 1 1	4 	· · · · · · · · ·	· · · · · · · · · ·
 	$L_{\chi} = (3 +$	4 - 1)		· · · ·		.       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .
· · · ·	• • • • • • • • • • • • • • • • • • •	· · · · ·	· · ·	· · · ·	  	.       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .         .       .       .       .       .       .       .       .       .
• • •					• • • • • • •	

example 2	$x[n]$ $\uparrow^3$	<b>h</b> [ <b>n</b> ] ↑3
	$\begin{array}{c ccccccccccccccccccccccccccccccccccc$	$ \rightarrow n \qquad \qquad$
· · · · · · ·	$x[n] = \{1, 2\}$	$34 h[n] = \frac{1}{2} 2 \frac{1}{4}$
Solution	$\chi[n] = \chi[n] * h[n]$	
h[-k]=	21223	Ly = (3+3-1) = 5 overlaps
у [] у 	$\begin{array}{c} 1 \\ 2 \\ 3 \\ 1 \\ 2 \\ 2 \\ 1 \\ 1 \\ 2 \\ 2 \\ 1 \\ 2 \\ 2$	$\begin{array}{c} 3[2] \\ 1 \\ 2 \\ 3 \\ 1 \\ 2 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 2 \\ 3 \\ 3$
3[0]	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	3[3] 1 2 3 1 3 2 3 1 3 2 3 1 3 2 3 2 3 3 2 2 3 3 2 3 2 3 3 2 3 3 3 2 3 3 2 3 3 3 2 2 3 3 3 2 3 3 3 2 3
	$ \begin{array}{cccccccccccccccccccccccccccccccccccc$	$y[n] = \{2, 6, 11, 8, 3, 5\}$

Example 3	$x[n] = \{-1 \ 0 \\ \uparrow$		$h[n] = \left\{ \begin{array}{c} 2 \\ 1 \end{array} \right\}$	· ·		
solution: $y[n] = x[n] + h[n]$ $h[-k] = \frac{1}{2} \frac{2}{3}$			$L_y = L_x + L_h - 1 = 3 + 2 - 1$ = 4			
. [I-J	$-1  \bigcirc  1$ $\uparrow  1$ $2  2$ $\uparrow  -2$ $-2  \Rightarrow  \xi = -2$ $-1$		.       .	· · · · · · · · · · · · · · · · · · ·		
y [o] :	$-1  0  1$ $1  1$ $2  2$ $1$ $-2  0 \implies 2$	$x^{-1} = x^{-2} + x^{-1}$	$y[m] = \lambda - 2 - 2 - 2$			
y [1]	-1 0 1 1 $2$ $2$ $12$ $2$ $1$	$\Rightarrow \underbrace{\xi}_{1} = 2$	.       .	· · · · · · · · · · · · · · · · · · ·		
Y[2]		2 2 2 2 2	$\begin{array}{cccccccccccccccccccccccccccccccccccc$	· · · · · · · · · · · · · · ·		

example 4
$y[n] = \mu[n] * \mu[n]$
Solution
$\mu[\mu] = \{1 \mid 1 \mid 1 \mid \dots \}$
$\mu[Fk] = \{\cdots, \cdots, n\}$
For $n < 0 \rightarrow$ $y[n] = 0 \Rightarrow n0$ overlap of non-zero numbers.
For $n=0 \Rightarrow \chi[o]$ $21  1  1  \cdots  1$
$1 \Rightarrow \varepsilon_0 = 1$
For $n = 1 \rightarrow y[1]$ $2 \downarrow 1 1 \cdot \cdot \cdot \downarrow$
$    \Rightarrow \mathcal{E}_1 = 2$
IN GENERAL
$y[n] = \frac{1}{n} + \frac{2}{n} + \frac{3}{4} + \frac{3}{4}$